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AVC
H.S. PRE-FINAL EXAMINATION, 2021-22
GEOGRAPHY
(Theory)

Full Marks : 70
Time : Three hours

Choose the correct answer from the four alternatives given below : 1x10=10

weTs i i Res Seaq #[l w5 Seeo! AIfk Sfneai—
(a) Which one of the following is the headquarter of ASEAN trade bloc?

et ' wfE 77 afedl 3ifies HRIR 7 IR itz ?

(i) Jakarta, Indonesia (i) Brussels, Belgium
(iii) Vienna, Austria (iv) Minsk, Belarus

(b) Which one of the following types of economic activities dominates in all
rural settlement?

o (P! TG TR Ay TS deig (A ?

(i) Primary (i) Secondary
e et
(iii) Teritary (iv) Quaternary
TORS BoRE
(c) Which state of India has highest population?
R (TR JETS TR FfE 2
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(d)

(©

®

(i) Kerala ‘(ii) Uttar Pradesh

&l Teq o
(iii) Madhya Pradesh (iv) Assam
g AT AN |
Which one of the following is the largest linguistic group of India?
TR (I SIFed I3 SIS (alrdl 2
(i) Sino-Tibetan (ii) Indo-Aryan
tiR-fowsm Eladis bt
(iii) Austric (iv) Dravidian
g alke

Which one of the following is the main reason for female migration?
SR (ICH! ARl AT SO IR ?
(i) Work and employment
f o Rgf&
(ii) Education
IRk
(iii) Marriage
[SRIEY
(iv) Business
I

Which one of the following scholar introduced the concept of Human
Development?

O] (G 2AfSTS MR ST qIReeo! fufzei e
(i) Prof. Amartya Sen  (ii) Dr. Mahabub-ul Haq

TGAT TS G T° (TZJR T 3
(iii) Ellen C. Semple (iv) Ratzel
qre 5. (ooiE 3o
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(h)

)

Which one of the following countries has the highest sex ratio in the world?

SR (PR (7S rag TR Foikel Syt w2

() Latvia (i) United Arab Emirates
wiofeat TAYF GBI SN

(iii) Japan (iv) France
S A

Growing of flower is called -

o) IR IGT (R T—

(i) Truck farming (i) Mixed farming
FiF-TIfR [EEEQIBK

(iii) Factory farming (iv) Floriculture
SR PR oot T

Which is not a factor of Industrial location

CoTd (LG BTplel AR FINT 433~

(i) Market (ii) Capital
IS TEH

(iii) Population Density  (iv) Power
GARYR TTY «f&

Regional planning relates to :

Hiwls A gite—

(i) Development of various sectors of economy.
T Rfen de3 SFad |

(ii) Area specific approach of development.
ICEREE N S L ) TSRSl

(iii) Area differences in transportation network.
sifazer ghe AN |
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(iv) Development of rural area.
Sy SR BT I, -

2. Answer very briefly: . 2%10 =20
oS vt Teq forat ¢

(a) What is a rural settlement?
Ay At e

(b) What is trans-Canadian Railway?
1 IR @@ ei [ e

(c) State any two sources of surface water resource.
G- T TN Y51 B i farat |

(d) What is rain water l;arvesting?
IR A FAReret [ e

(e) What is Population Doubling Time?
AR faed i e

(f) Differentiate between life-time migrant and migrant by last residence.
1T SR ZR @9 f5fE TR eigem =% grf deiemr sitefy ot |

(g) Define Human Development.
RICEACEEL LR O R T

(h) Name some sub-fields of Human Geography.
WA QST (FLHINA 2PNR 1N foralt |

(i) Write the three components of population change.

T #fRSAR SR SoAmR ot |

() Define the concept of sustainable development.
SETERACERCERCR R
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(k) How is sex ratio measured.
o1t SIoie (T el =z e

(1) Give one advantage and disadvantage of pipeline transportation.

2ot oAfRTZeR @51 FR = G5 SR |

Answer in briefly : 3x7 =21
5y Ces fumt ¢
(a) Give three examples of mass media.
st fSfvt Sweset fan
(b) What is Tertiary activity?

v e b e

(c) Mention three factors affecting tourism.
LGS ASIT (AR TG Fies T 71 |
(d) State any four states of India where ground water utilization is very high.
SIRSY BIRRA S AN il '8 S-S Gerivd J7ZR 7T |
(e) What are garrison towns? What is their function?
eif STt 791 [ 2 TR TG e
(f) Discuss the four pillars of Human Development.
AR ERTIR 5101 FTI SIS SEAIBA 9 |
(g) Why is the sugar industry a seasonal industry?

IRIR Colel [y Igsre Syl ?

Answer the following questions (any three) 5x3 =15
©oR ePTTR Bl fral ¢ (Rt fofRon)
(a) Discuss the various modes of transportation.

sif{aey RiSa TgT A S219S S0 741 |
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(b) Discuss the factors influencing the distribution and density of population in
the world.

AR G ot SiF TS eeR (TR PR FHR S F91 |

(c) ‘dssam is a land of rivers’. Elaborate the statement.
“SPT G ARG (e — I 3
(d) Draw an outline map of India mark the following therein. 24+3=5

SITed ARSI (14412 G TP 54 91 W1 ©fS wefo s 7264t &

(i) A metropolitan city

eiffm wReR 94T
(ii) A cotton producing state
QU FAIZ BeAMABIS ST
(iii) A westward flowing river of South India.
55y fare eI nfe SIReT G4 Tl |
000
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